The word(s) - SRR TR SRR TR IIRR YR
7w own teaches that a 79w can appoint another mow

OVERVIEW

There are two ‘D109 that read as follows: '3 NIN™3 790 72 2N "3 7P *D
n°an anow. The other 700 reads similarly: 1noan oy "3 ano. We derive
from the word 75w that a man can make a > to give the 3 to his wife.”
We derive from the additional X"77 (of the word an%w1)’ that a woman may
make a YW to receive a vi from her husband (or from his 15w). The X
then continues that from %W w1 we derive that a %W can appoint an
additional m°%w. Our MdoIn discusses how we derive this from the o°p105.

— NVYH91 29N NNHYI S9NT DIVNPH YD

“"'"w explained that in the 7292 of Pw13 the word fmben is written twice,
therefore from one 715w we derive the first two N7 (that both the man and the woman
respectively can appoint a m9v) and from the other nn%w1 we derive that a m>w can
appoint a mow.*

nvoIn asks:
— YNNY 1919 NN NVIVY S‘MUP‘I YYD NNYYY 1N TPI08N RN 9INRN ON)

And if you will say; but one rb2 is necessary for the 7w=7 that a mup
and a 7w woman cannot be divorced. msoin explains how this is derived from

o -
— DN NP ANTYNRY 1D V99 NHINN NN ANTVYNRY ) NNHYY YIWN 90T

For this is the implication of 1r%23; he can divorce one whom he sends
her away and she does not return; to the exclusion of this one (the 71vp

1 R,72 (R¥n *2) oA

2 The 7710 teaches this to us by using the term M5 (the word 7mwY) instead of W™ (see MW 7"7 "wA).
* The word ambw (with a X"71 1) actually means ‘and he sent her away’. The additional X"71 (7°2n) is
interpreted it as if it were written without a X" 2°5»; meaning ‘and she sent’. We can derive nwXm nimow
from the X"77 since the 770 used the word an>w1 instead of 7w to teach us that the word 7nown is to be
interpreted in all manners pertaining to the laws of mm>w.

* It would seemingly appear at this point that we derive 5w 7w m°9w in the same manner as we derived
MW in general; since the 77N uses the term MW instead of PwIa. [Alternately we may derive that
mow mww mhw from the other In%w1 because it is superfluous as Moo mentions shortly.] We are not
discussing what the other X"77 (7°97) is teaching us. It is not clear whether the X" teaches us that nwx3 oW
LW aww or there is no need for a w17 that a oW 7wy nwKa MW for once we know that both the R and
the 7wX can appoint 2°m>w, therefore if the WX mow is 1w 7ww the same will apply to awka mow. [Or
"W maintains that a mwyn 1°%w cannot be W AW for it is merely words and m°5w? X107 R? "90.]

> Generally a 710p can be nw71an (see a0 1"7 2,an M1OIN); this must be referring to such a young mivp that
has no understanding and continually returns to her former husband.



and the 70 respectively) that even if he sends her away, nevertheless she

returns. There is no extra nn>w" it is necessary for this nw17 to exclude a nvWY MR
from w13, There is only one 77w remaining and that is necessary to teach that a man
and a woman can make a m°; from where can we derive that a 5w qww mow.°

n90IN answers:
— PINYD D752 1N 99527 89T MVYAT SNV Y RN NNTVIT 91919 v

And one can say; that in the last 72 there are also two nw=7, for the

7109 could have merely said 77792 3021 and remain silent without adding 7r%wn
AN -

— 7hﬂhN NY9T Np9) ANTVIT N7N1Y NYUITH N3 ynY NV anasm
Since the 770 added and wrote i>@n it is evident that it is for a 7w=7, and
from the additional X"7 of 7>y we may derive another w27, There are
therefore two MW7 in the last an5WY; one to exclude a NN XM An5Wn and one to teach
us that mow mww mow.

mooIn offers an alternate explanation:
— 10210 YWIIT PINK NNDUINT YD INIIN 1932

And the 1''1 explained that we derive all three 2>77°% (including mmow of

the WX wX and 5w 7w W) from the last am92M. mooin now explains the

three M7 from (the last) oW -
— NTYIT 7N 19 DNTYIT 1779 199 N1 1NN 9199139 9811 MINT NHY WI9N

For the 1" is w7 the superfluous word m9wn; it is extra for it could have
merely said 77792 303 without adding 7n%w and similarly the 1'% of rbwn

% See (T1%7) X"waan who asks that we can answer Moo question that just as there are two N7 in the
first AW there are two MW7 in the second An>w1 (which seems to be NN answer). The X"w1n explains
that the mwa7 of the first I7%w1 are based on the mynwn (the understanding) of the P09; the 70 did not
write w3, only arwn in order that we should interpret it to teach us M>>w both for the man (from r7wY)
and for the woman (from 717w without the X" 2°01). However in the second 1% we cannot derive
anything from the nwnwn of the oo (the exclusion of NN X1 IPwn can be equally derived if the 771N
would have written w3 [it will exclude this one who is nnm XM Awaan]); we derive the rule of n5wn
nnn XM because the second e is superfluous (as N0 will shortly state). MooIN is now of the opinion
that if a word is superfluous we can only derive one w17 from this word; in this case NN XM 72w, so
from where do we derive that m>w nww m5w! [From the W% of novoin, however, it seems that in the
question MooIn assumed that NN XM 377W7 is derived from the mynwn of anbw (with a 71 p*on) as MvoIN
writes "W ynwn 2377 it is only in the answer that Moo maintains that the second 7w is superfluous.
P"v¥. (See footnote # 10)]

7 See previous footnote # 6. MOIN answers that even by a XMn> we can break up the word and say there was
no need to add the X"77 (one 7w17) and no need to write the 177w either (a second 7wA7).

8 It seems that MdOIN is not particular which of the two 2>17°% (of m%w Aww %W and NN XM An>wn) are
derived from which nwa7 (the X"77 or nowY). However in w"R17 moon it states clearly that the exclusion of
nnn XM anwn is derived from the X"7; indicating that m5w nww mow is derived from now. [It appears
from the X237 W5 of YHW AW MYWAW A% AWy nown that it is the extra ' that teaches 17w AW mow.]



and also the '57 of %@ are all superfluous. There are therefore three mw~7 to be
derived from the one word of (the last) “amow -
— 091N NN NNSYNT KYAT TNY TPIVIN NNIYY TN

And the other (the first) sm>w is necessary for this ;w=7 that w7

applies only to a NIt 739K AW,
— NYDY NVIYY 1191 NDY RINT HNIN 13229 PYH AN

And this is the quote of the n''=; for we learnt in a Xn"3 it says 77w to

teach us that he appoints a 79w, The 0" -
— A2 109 AN9Y DY MN PIANN NN INHYI Y19

explains that concerning the last yn°a» e The P05 could have merely

written 77753 Jn1Y without adding nrow -
— NYOY AVIYY 990 NHY and N

So why did the 7710 write n>w to teach that he makes a m°%w. The 7 -
— HY AVIY NINY 1Y NNV 29057 1 P00

Added a ' for it is written mnow, teaching us that she appoints a m>w -
1YY NYIY NYYNY 155 7Y 1) 9010 INYY)

7w is written with an additional ", teaching that mbw ey mbw.

SUMMARY

According to Mmoo *"w the first anow teaches Mmow of the man (72wW)
and MY of the woman (715W1) and the second [extra] oW teaches oW
v v (from n9w1) and excludes nnn oM anwn (from  gnbwn).
According to the *" the first 777w excludes nnn XM anwn and the second
[extra] anowY teaches Pvan mnow (from 15w), nwRs mnw (from an?w) and
oW v mow (from anowy).

THINKING IT OVER

Why according to the n"3 the first an%w teaches nnm XM an%wn and the
second oW teaches Mmow, and according to °"w2 and Moon it is the
reverse; from the first 75wy we derive mim°ow and from the second that
nann XM anewn (and TRW AW W) ?

? See footnote # 7. Even when a word is superfluous, we can derive additional nw~7 from the various
additions to the word.

' We derive the exclusion of NN XM anwn from the first 772w not because it is superfluous (for it is
not), and not because of the W91 11w (from AW to AW [see footnote # 6]), but rather from the simple
reading of the word oW1 (see X"w1n). See [bracketed ending to] footnote # 6.



